118 U23T)L35000m T.T.4 8 (X F)

T IE F A4 K % |5l |5000mEREk | B2E/K/Open| | 5 km%IDT
i XZE FARMEE 3 19:07.7 F—T 88.4
il K= AHES T 19:19.6 -7 87.4
R RKF LFESH 8 19:25.8 F—T 87.0
REPEE /1 EIKZE 3 19:29.5 -7 86.7
M KE PR 8 19:35.7 =T 86.2
TUY— NRIE 3 19:37.3 -7 86.1
flls K= AEREF | K 19:38.1 =T 86.1

BiIZEER| REEEF | X 19:53.2 -7 85.0
i XZE BARE 8 20:04.3 =T 84.2
il K= AKXKHERE | & 20:06.6 -7 84.0
N KE EZKRE 8 20:30.7 =T 82.4
il K= HEER 3 20:33.0 -7 82.2
i XZE HHXE 8 20:33.7 =T 82.2
il K= =R IR g 21:10.5 -7 79.8
ESEEESwa kg =z 19:19.7 B2 93.3

EBEZIKRE| ANRERK g 19:36.9 B2 91.9

RIAFESK| HEFED Z | 19:37.9 BEH 91.8
RIPKF P [EiH 3 19:41.3 B2 91.6
i XE A 7E =z 19:53.9 B2 90.6
BRR KE e E8&F | % 20:03.4 B2 89.9
i XE (LB & =z 20:03.4 B2 89.9

EUEEKXE| EEHEE 3 20:04.5 B2 89.8
i XE ARKE =z 20:10.5 B2 89.4
il s K2 LEEESR g 20:14.1 B2 89.1
SEKE BILKEA =z 20:17.6 B2 88.8
W& X PRI T | 20:34.9 BEk 87.6
BRIt K I E=FE =z 20:42.9 B2 87.0
fidXE RS A g8 20:52.8 B2 86.4




118 U23T)L35000m T.T.4 R (BF)

BREAXE gz 5 16:19.3 F—T 91.3
HAKXE =R EH 5 16:28.2 -7 90.5
HAXE |EEHFEKE| B 17:04.8 F—J> 87.3
BLi#E EHREH 2] 17:12.7 -7 86.6
BRJR KZE AR —5E 5 17:15.0 =T 86.4

EBEERARE| MR 2] 17:18.0 -7 86.2
BEZIKRNE| HEREFE ] 17:23.0 F—T 85.8
HAKXE a4t JE I 2] 17:26.9 -7 85.4
HAXZE 5 B4 5 17:28.6 =T 85.3
HAKXE AE BM 2] 17:34.7 -7 84.8
EWLERKRE| BHREX ] 17:36.1 F—T 84.7
il s K= fil  4HEH 2] 17:42.0 -7 84.2
EWLERXE| BOHEX 5 17:42.2 F—T 84.2
il s K= IHE—& 2] 17:42.4 -7 84.2
EWERXE AT ] 17:43.4 F—T 84.1
HAKXE WE BiE 5 17:47.3 -7 83.8
BRJR KZFE TH DN 5 17:47.6 F—T> 83.8
EUEEXE| HIHBE 2] 17:58.3 -7 83.0
i XZE HohiEh ] 18:06.1 F—T 82.4
il s K= f2EEGF 2] 18:11.7 -7 81.9
i XZE AJIHA ] 18:26.3 F—T 80.9
fils K ERE 2] 18:31.8 -7 80.5

BREAXE B ARER i 16:57.9 BE 93.3
BRSRKE R EX 3] 16:58.8 B2k 93.2
SMHKE (LI B i 17:08.2 BE 92.4
HEXE =EHN 3] 17:13.4 B2k 91.9

EWERKE| BEWNFiE E:] 17:15.5 Bk 91.7
SHKE JIEEER R 3] 17:17.5 B2k 91.5
BHAXZE TR R 5 17:33.7 BE 90.1
fihEXZE =) 3] 17:37.0 B2k 89.8
HAXZE MKEH i 17:37.0 BE 89.8
=N IERE/ N | B 17:43.7 B2k 89.3
HAXZE SHESE | B 17:48.6 BE 88.9
fihEXZE SEEYE 3] 17:55.5 B2k 88.3
i XZE FTHEKES | B 17:59.2 BE 88.0
fihEXZE EEEE 3] 18:01.0 B2k 87.8
flls K= FA LR R 5 18:09.6 BE 87.2
il K= RE®BK 3] 18:13.1 B2k 86.9
i XZE ININKE i 18:13.6 BER 86.8
il K= ERINEH | B 18:19.0 B2k 86.4
i XZE = 5 18:52.9 BE 83.8
ihEXZE AT 3] 18:56.8 B2 83.5




